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INDIAN ECONOMY — I 

(For those who joined in July 2017 onwards) 

Time : Three hours Maximum : 75 marks 

PART A — (10  1 = 10 marks) 

Answer ALL questions. 

 Choose the correct answer.      

1. India follows ____________ economic system  

 (a) Capitalism (b) Mixed economy 

 (c) Socialism  (d) None of the above 

2. The largely existing unemployment in the 
agriculture sector is ______________.  

 (a) Voluntary unemployment 

 (b) Structural unemployment 

 (c) Disguised unemployment    

 (d) None of the above 
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3. The major reasons for economic backwardness is 
______________.  

 (a) Poverty   (b) Unemployment 

 (c) Over population  (d) All the above 

4. In ______________ the new industrial policy was 
introduced in India.  

 (a) 1991   (b) 1992 

 (c) 1995   (d) 2000 

5. Reasons for high birth rate in India 
______________.  

 (a) Lack of education  

 (b) Superstition 

 (c) (a) and (b)  

 (d) None of the above 

6. IRDP is ______________. 

 (a) Antipoverty Program 

 (b) Educational Program 

 (c) Investment Plan    

 (d) None of the above 
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7. Which one of the following is the best yardstick to 
measure the development of home economy?  

 (a) National Income  

 (b) Percapita Income  

 (c) Gross domestic product 

 (d) None of the above 

8. Poverty in India is due to ______________. 

 (a) Illiteracy   (b) Lack of Investment 

 (c) Unemployment (d) All the above 

9. The primary objectives of first five year plan is 
______________. 

 (a) Agricultural development 

 (b) Industrial development 

 (c) Promotion of Service Sector    

 (d) None of the above 

10. The primary function of NITI Aayog is 
______________.  

 (a) Formulate the economic plan 

 (b) Thinktank 

 (c) Decide the plan outlay 

 (d) All the above 
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PART B — (5  5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

Answer should not exceed 250 words. 

11. (a) What are the problems of Indian Economy? 

Or 

 (b) Examine the causes for poverty in India. 

12. (a) State the various types of unemployment in 
India. 

Or 

 (b) Discuss the problems of population growth in 
India. 

13. (a) Narrate the impact of migration on Indian 
Economy. 

Or 

 (b) Explain the importance of agriculture in 
Indian Economy. 

14. (a) State the special features of Indian 
agricultural market. 

Or 

 (b) Analyse the problems of industrial sector in 
Indian Economy.  

[P.T.O.]
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15. (a) What are objectives of Indian Planning? 

Or 

 (b) Write a note on “NITI Aayog”. 

PART C — (5  8 = 40 marks) 

Answer ALL questions, choosing either (a) or (b). 

Answer should not exceed 600 words. 

16. (a) Explain the important features of Indian 
Economy.  

Or 

 (b) Analyse the nature of unemployment 
problem in India.  

17. (a) Discuss the various remedial measures to 
solve the unemployment problem in India. 

Or 

 (b) Explain the causes for migration in India. 

18. (a) Analyse the impact of green revolution in 
India. 

Or 

 (b) What are the problems of Agricultural 
marketing? Describe the steps taken by the 
Indian government to remove them. 
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19. (a) Enumerate the role of industrial sector in 
Indian economic development. 

Or 

 (b) Explain the importance of cottage and small 
scale industries in Indian economy. 

20. (a) Assess the impact of Five Year Plan in India. 

Or 

 (b) Discuss the role of NITI Aayog in policy 
making in India. 

—————— 


